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Instructions : Each question has four ggons. 006. Find a word which is opposite of the
There is only one correct option ileach given word :
question. Choose the ;:or:ect/most cgy ?z'u :a;e HEIGHTEN
option and darken the correspondingecircle o
1£ﬂ: blue/black on the OMR Answer S er (1) mfgqmlze
SECTION-“A” : LANGUAGE (7 widen
001. Choose the most suitable collective @ decrease
noun from the options given below : (4)  strengthen
The students presented a__ of 007. Choose the word which is nearly the
flowers to the dlstmgmshed guests. same in meaning to the word given
1 batch (2) packz n :
@ bouquet (4) peasantry :
002. “Etfoose the correct option to ccﬁﬁplete DEMISE ;
the sentence : e (1) illness (2) birth
[ wish to know the P (3) rebirth @/ death _.
is pleasant in Delhi ornot. -~ 008. Fill in the blank by choosmg the.
weather, weather GoHect option :
EZZ:EZ{ ’ ::ﬁiig: z .There is not a student Mohit
(4)  whether, whether — in ouy class.
003. Change the gender of the unef%?lmed }/ as the iost intelligent_ﬂgan
word : . zj ; (2) intelligent than
T fox was BHEEE o B (3) mostintelligent as
B! zﬁﬁn @) - g)l)l(;S @) asintelligent as
004. Identify the part of speech ‘of the | 009. Choose the most appropriate word to
underlined word in the given sentence : fill in the blank : &
“My mother will come soon.”& | you have done well.
(1)  Conjunction i‘::-q (1) Oh '
(2) Noun e ;
Adjective o ) g"PS ‘
@ Adverb 3 L rave :
005. TFillin the blanks with plural forms : -(‘D . Alas
Singulit| B s 010. Fill in .th‘e blanks by choosing the
: ~orrect idiom :
formula - | L -
sheep — | s been raining since the
| last seven hours.
8 formulas, sheeps (1) hueand cry
formulae, sheep “ s (2), farandwide
(3), fommula,sheep . -, | @/ cats and dogs
}gr)/ N (4)  black and white S
APR-6-25_D/29562 (3) ' - "[PTO]
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Identify the form of the tense in the

following sentence :
Soham had sung a song.
(1), * Present perfect
)  Past simple e,
(3) Present simple - ©_J
Past perfect

[dentify the nouns used in the
following sentence :

" Every person should perform his duty.

every,duty = .=
(2)  person, perform
- (3) every, person

person, duty _ :
Fill in the blank.by choosing the
correct pronoun :

This is the girl all admire.

@ whom

(. who

(3) - which

(4) that

Choose the correct spelling :

| ()  separate

(2)  seperate: -

(3), - saparate

saperate s

Form a meaningful sentenceé. usmg the
" jumbled expressions :

(a) aswarmas

(b)  itis believed that

(c) six sweaters

(d) . apashminashawl is

,(X( ® © @ @ .,
@ © @ ® @

3 O @ @ (@

@ ® @ © (a

-~ = ™InNEARD |

|

(@i

.01@ Choose the correct articles from the

given option :
Rahul is intelligent son of
—__ poor farmer. ., ,
-~ (1) an,an an,a
7 (3)  a,the (4) the, an
017." Fill in the blank by choosmg the most
' suitable word :
Charu’s handwriting is
unable to read it.
' eligible
immigrant
©) illegible
(4) ambiguous
Fill in the blank with the correct form
of'the verb : '
While 1
came,
3@ was writing
—\ (2) . wrote
= };V)/ had been writing
s—— ' .
5 (4) . had written
019%3 Choose the correct option to complete
the sentence : |
car is parked over

, ] am

(2)

018.

a letter, my teacher

(1)  Their, they’re
2)  There, their
" Their, there

( They’re, their
020. i]l in the blank with suitable question
¢orksinschool, 7
M/v didn’the
: (2) isn’t he
doesn’the
C'ﬁ (4) does he
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Read thgJollowing passage and answer the i| 0
* questionsthat follow : ,
Conver%qon is a fine art. It is the art of
exchanging thoughts. It is an art which anybody
can cultivate or master. Not everybody can paint

or play music, but almost everyone can talk.
Thus it affords "To talk', says R.L. Sleversan, is
our chie(,b}nsincss in the world. And talk, is by :
far the 112_5’( accessible of pleasures. It costs
nothing #®¥money, it is all profit. It completes '
our edugalion, makes friends and can be
enjoyed at an}" age. Conversation is indeed the |
_mostteachable of all the arts. All you need to
do is to find a subject that interests you and
~ your ligjgnefs. For example, numberless '
hobbies-té-talk about. But the important thing
is that @must talk about the other fellow’s
hobby faflier than your own. Therein lies the
secret 0?30111' popularlty Thereis nothmg that

pleases people so much as your interest in their
interest.

It is justas important to know what
Sle_]CCtg:ﬁ) avoid and what subjects to
select forfgood conversation. If you don’t want
to be s@owu as a bore, avoid certain -
unpleasa@itopics. Avoid talking about yourself
unless you are asked to do so. Sickness or death
bores everybody. The only one who wnllmgly
listens to such talk is the doctor but he gets

paid for it. You must also know not only what
to say but also how to say it.

|
i

APR-6-25_D/29562 (i5)

How can you become popular?

| jé)/ By discussing about education

By talking about our hobbies
By discussing about death

(4) By talking about listener’s
! hobbies
022. Find a word from Para 1 which means:
Within reach
Teachable
(2) Chief
-Accessible
(4)  Fellow

023. On the basis of the author’s view, which
statement is not true?

@ Knowing how to say is not as
| important as what to say.

(2). Talking can be a means of .
pleasure. .o
(3) _ Talking costs nothing. -

Doctors are willing to listen to

/ our miseries and sickness.

Fill in. the blank by choosmg the
correct word :

[t is important for children to
good manners.

@ cultivate
2.(2) lease
bore

(4) avoid

According to the author, which is the
easiest art?

(1)
(O
G)

024,

025.

Music
Exchanging thoughts
Painting

Hobby

[PT.O.]
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Instructions : Each question has four options.

There is only.one correct option in each

question. Chquge the correct/most appropriate

option and darken the corresponding circle

with blue/black?on the OMR Answer Sheet.

Sectio®B” : MATHEMATICS

026. The a% of asquare and a rectangle are

equal. ITthe side of the square is 30 cm
and the breadth of the rectangle is
25 c1@en the length of the rectangle
Bl =

(1) J42 cm 38 cm

(3) =40 cm 36 cm

A shopkeeper bought two mobile

phonés“for T 15,600 and ¥ 14,400

respectively and sold them for a total

027.

1S :
(1) =loss of 8%
(2 %ain of 6%

ain of 4%
“E?/_loss of 4%
028. factQfy produces electric bulbs and 2

out ofiVery 15 bulbs are defective. If
the factory produces 630 bulbs per day,
then the number of defective bulbs

-produced per day is :
90
. %5 84

(1) 45
’ & ” A .
The %e of (x +y) in the following

(3) —42
029.
' ﬁgurgr_@ i
—lt

L17%
(3) 105°

APR-6-25_D/29562

(@) 1630
138°

0f¥31,200. His loss or gain percentage

(6)

R - ;T

026. U T g1 U ST B A% SR o

027.

028.

029.

) ur @

7% ot @ e 30 @), ¥ St Al
grgrézsﬁﬁ%,aaﬂmﬁaﬁwé

(1) 4284 (2) 388.4.
(3) 40 q.4. (4) 369.4.

Gh gHMEX A A AR BN BA:
T 15.600 quT T 14.400 ¥ @O &R
3% Fa T 31,200 § = Ram Iwe
gy otear Y ufaed @ -

(1) 8%a
(2) 6%
(3) 4% W
(4) 4%@=

% GBI T ol B 9 e T oayr
5% 15T § 2EwE A ¥ R
Grll # gfiRT 630 g T B @
g & A T et 9 e D

(1) 45 (2) 90

¢) 42 @) 84
& TR A (x+y) A

163°

3) 105° 4) 138°
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Read the given statements and choose
the correct option :

Statement-I : The diagonals of a square
are equal in length and are perpendicular
to each other.

Statement-II : The diagonals of a

- rhombus are equal in length and are

perpendicular to each other.
(1)  Both the statements are false
Only statement-I is true

| )(Z')/ Only statement-I1 is true

031.

i

032.
-~ 3 kg 37 gm onions and 6 kg 8§ gm
-‘tomatoes. She found 2 kg 45 gm

033.

APR-6-25_D/29562

NON

Both the statements arc true
Ifa=5 and b = 15, then the value of

r b
(g——-*—l];-r—(b—a) s -

(2) 24
@) 12 18
A woman bought 5 kg 640 gm potatoes,

tomatoes rotten and returncd these to
the vegetable vendor. The weight of the
vegetables she took home is

12.640 kg
13.460 kg
12.973 kg
13 360 kg

()
3)
(4)

35 envelopes cost ¥ 87.50. How many

such envelopes can we buy for

27307
126
312

@
(4)

Www.saks.hied

SiviEl

030.

8 9GLlriEl

—
.

9GlylEl

o
)
(U]

L

99L§L€L

51'12{"

I: ot & fopel @wag & &9 B
%wwaﬁréﬁ%‘l
-1 Gagest & feet @ J
- A B o T @ A ¥
(1) 391 o 9 8
2) aq FH-19 &
(3) e Fu-11 9 ©. .,
(4) A AT E

2R a=5TMb=153, @

.(“+1J3+(b—a) o o Y
‘b a

(1) 14 (2) 24
3) 12 4) 18

oF e q S RE.aT. 640 7. 9T,
3&’5117 37 01, @7 @7 6 fham. 8 .

Tex @R IaY @ B 2 R 45

. T T €, B S g ek
aﬁaﬁaﬁwsﬁaﬁwwmaﬁﬂs‘,
I AR T

(1)  12.640 f5..
@) 13.460 B,
(3) 12.973 [
(4) 13360 .
35 Rt &1 ged T 87.50 &1 ¥
730 § = yR & e R aE
b & ?
(1) 292 (2) 126
‘() 252 (4) _312
' [PTOJ
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What should be added to the sum of
179.08 and 20.17 to get 512 ?

1) 32175 () 71125

3) 313.25 @/ 312.75

If48% of anumber is 120, then what is
170% of the number ?

(1) 475 3%/400
@ 425 4) 385

A rectangular piece of land measurcs
700 m by 500 m. It is to be fenced with

4 rounds of wire. The length of the wire

034.

035.

036.

needed is :

Meoo m  2) 7200m

(3) 480m @) 9600 m

The average of 15, 12, 17, (x+5), (x-1)
and 22 is 15. The value of x is :

W »w - @ 2
o @

Six sectors of equal area are formed by

the three diameters in a circle. The

measure of an angle formed by two
‘adjacent radii in each sector is -

(1) 30°

037.

038.

(2) 90°
50

4
@

APR-6-25_D/29562

(8)

el

W

034. 512 < HH B lﬁwgos AR 20.1°

035.

038.

%qﬁvﬁwvﬁgﬁ‘"?

() 32175 @(@2) 71125
(3) 313.25 4) 312.75
I Bt g 1 48%, 120 & O 99
e & 170% T8 ¢

_k »
(1) 475 PN2) ' 400

—a :
(3) 425 ¢v4) 385

O AMATHR ﬂg@ﬂg)q?r fmre 700
A 500 Nt F gD WX TR I
zEn arg et B phens O )
AR A~

e _
(1) 8600 = cén)(z) 7200 =i
(3) 4800 7t (4) 9600 =

15,12, 17, (x+5), (xal ) &1 22 7 i

15 81 x & O ﬁ
(1) 10 ﬁ(z) 20
(3) 12 81)(4) e
ol A A et e e
6 BUElE 9 My e Ryeerts 3 ¢
T Bt & dw e D
(1) 30° SN
N
2)  90° a
(3) 450 o
4) 60°

www.sakshieducation.com
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Arrange the following fractions in
ascending QoL :

O [ s

14156

L)t
]

| 27 2
@ 6’91273
o 217 &
@) 9612’3
5 387
9’5 12

<

gl E8 1
( 83w

H40 The length, breadth and height of a room

are 1050 cm, 750 c¢cm and 425 cm,
respectively. The length of the longest

tape which can measure the three

dimgnSions of the room exactly is :

50 cm 125 cm
150 em 25 cm o
141. 1ich of the following st tements are
correct ?
(A) If a number is divisible by 4, it
st be divisible by 8.
Ifanumber is divisible by 3 and
5, then it is divisible by 15 also. |
(C) A number which is divisible by
2 and 8 is divisible by 16 also.
(D)  Thesum of two consecutive odd
numbers is always divisible by 4.
(1) ~Only (B), (C)and (D)
Only (A), (B), and (D)
(3) Only(B)and(C)
Only (B) and (D)

\PR-6-25_D/29562

039.

X

040.

041.

(9)

Y & Rt @ oMU FH H R
F ¢

\o‘.lm
3
5=

WM
| —

-

(D

i

(USRS

ol

Vllh WiIn al— olw
w o

B~

(2)

Sl

3)

LY

Wi ol —

ol

is
.ﬁ,
g

e

g

H

i
3
!

A 1050 A4, 750 QAL @RI 425

A Y T T AGH B as oad

X 1 AT R B A S 6, e

(1) 50 ﬁﬁr. (2) 12594
(3) 1507 (@) 258A.
iy aF-d R aqu e ?

(A) dR B dem 4§ o E, @
Ig o & 8 § g erin
B) IRk S e 3 T 5 q e
TR T 15§ s @i
(C) 23X 8 q fawrew @i d@e 16
ot R 2i :
D) A FArE Rw gemel & AT
W 4 Y R AW R
(1) % (B),(C) O
(2) Fas (A), (B) 3R (D)
(3) @&« (B) AR (C)
aa (B) iR (D)

(4)

[P.T.O]
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A bortowed T 3500 for 3 years aw
rate of 4% p.a., B borrowed X 4206-@1'
2 years at the rate of 5% p.a. ang

borr owed T 2800 for 3 years at the' ¥ite

of 5% p.a. on simple interest. Whlcﬂf
the following statements is true ?

' Ohly A and C have to pay 3420

(1)
each as simple interest -
(2)  Only Aand B have to pay Y420

each as simple interest

@ :

A, B and C all have to: pay T‘%@O

ch as simple interest:* “’ﬁ
. ; A
- Only B and C have to pay 3840

each as simple interest -
A solid cuboid is formed by, joining
three solid cubes ofside 4 cm each. E&

volume of the cubpld so formed i isies
() . ) 255_01113 ; 192 c%

044,

APR-6-25_D/29562

(3) G4em - (4) 128 oFy
_In the given questlon two statemeats | (44,
Assertion (A) and Reason (R) are given.
Read them carefully 'and choose the
correct option from the given options.
Assertion (A) : : 41 is a prime number.
Reason R) : It has only two factors-
t 1 and the huinber itself. i
“(A) is.not correct but (R
correct 3 ==
@ Both(A)and (R)arecon'ect and’(ﬁj
is the correct explanation of (A)S ..
(3) Both(A)and (R)are correct.
(R) is not the correct
explanationof (A) . = |
@ AN is correct but (R) is not
correct
(10) -

042,

043.

Ay 7 3500 3ad B R 4% A

w9, B Y T 4200 299 & [T 5%
mﬁﬂsaﬁwc%msooaﬂmé%_
RiT 5% aiftieh & & |ERET el X
o1 T ﬂ%ﬁqwﬁﬁ%ﬁﬁ—w
e 9 8 7

S AT C, W% Bl T 420

!

. AYRET @ &1 &

(2) @@ ATl B, &% H T 420
QRO T & Bl

3) A Baw C, @ @ T 420
FIERET ST a1 e

(4) @@ BT C, 9@%@?840.

RO AT 3 8

I4Iﬁ.gmlﬁ%aﬁﬁaﬁﬁ3ﬁ_

T S I ST 747 1§ K o
O AT B ¢ '
(1) 256 3.3

() 643M3 ..

192 &3
128 3.3

@)
(4),
RT gT U 4 & T, IRRF (A) o

T (R) R 1 omyds s sremm

B 7 R R Rwedt § ¥ R
- [N N

ARTHIT (A) : qusqum%.
™ (R): mmaw%w
1 T 98 ¥&1 w4

(D) (A)TE TR AR (R) T D

2) (AT R)I T ¥ o (R)
A) B T ey

(B) AT R)IA 6. AR
R), (A) ¥ T& =re 8 ¥

@ ATETIF R) o & 2
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The perimeter of the following figure
153

045.

Jcm
Jcm

RE
3cm

3cm 3cm

3cm 3cm

3cm
3cm

3cm
3cm

@l 36 cm

(2) S54cm

(3) cm o
(4 30 cm
046. 1ch of Ehe following statements are

not tr

( Two acute angles are always

- - supplementary.

Two obtuse angles are always
supplementary.

. Two equal angles which are
twice of the half of a right angle
are supplementary.

An acute and an obtuse angles
are always complementary.

Choose the correct answer from the

options given below !
(A), (B) and (D) only
S (A) and (C) Only'_-_ O

() (B),(C)and (D) only
(4) (C)and (D) only

047. The value of * in the followmg is
3958 - *7*—3*8* |

(n 3

®)
©

©)

- APR-6-25 D/29562 '

(11)

046.

047.

(1)
@ s
(@) 45
(4) 30 .
'ﬁﬂﬁﬁmm—@fwdﬂﬂﬂﬁ%?
(A) _&‘rwﬁﬁmﬁ%améﬁ%:
(B) a"reﬁémo‘nr?rwr_;'
(©) awﬁwﬁ“’mﬂﬂmeﬂ%'
| %E?rgﬁ%a?m-% dae e
D) T T T s
T T O -
Fﬂ%ﬁ'&‘ﬁlﬁlﬁﬁﬁ@fﬂﬁwaﬁf
,,(1) %ﬂa(A), (B)@ﬁ(D)
(@ F (A) iR (&F
‘(3)" B9 (B), (C) 35 (D)
@ 33 (C) aik ® .
A mamy.
3958 — *7*=3*8*‘
3] 3= O
@ 6 o
JORE S
4) 4 e _
=l - [PT.O.]
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048. The least number which when dmdecl' 048,
by 25, 40 and. 60 leaves 9 as thel
| remamder m cach caseis: §
(13 (2) 619 |
j
@ 609 MY 591 |
049. Read the given statements and choose 049-
the correct option : | i
Statement-I : A secant of a circle is a! ‘
line segment having its end pomts on
the circle.
Statement-II A chord 1sa lme p'lssmg
through the centre of a circle and
mtersectlng the mrole at two pomts
Both the statements are false 1
.' | (2). ! _,Only statemeot-l 1s true b
(3)  Only statement-II is true
i (4)‘ Both the statements are true
050.. The ratio of price of coffee to that of 050.
] tea when coffee costs T 24 per 100 gm
and tea costs ¥ 180 per kg is :
(1) .___3:4 )%/2:15 o
3) | . 4:3 |
051. Anil exerc:sed tor 2/3 hour, Ram 051.
exercised for 3/4 hour, Chetan |
exercised for 1/5 hour and Dharm |
exercised for 5/6 hour, Who exerolsed
for maximum time ? - j '.
(1) Ram - : .
(2) etan |
Dharm ;
(4). Anil z
APR-6-25_D/29562 (12)

75 8 & 99 wem R 25, 40 T 60

-'ﬁﬁwmaﬂ%qt,mﬁaﬁﬁirw-
M, B

619
591

509
609

(1)
3)

2)
(4)

R T w0 @ R o wd R

amreﬁ*
L g B BT 1 G s

_am%memweggaﬁmaeﬁ-

g . -

F-11 Gﬂmga%%a%@ﬁgéﬁeﬁ_
W B R gw @ A r félr—geﬁ W
gidesE HH &l

(1) &N o oy &

(2) P99 FE-ITEE
3) ¥ w-lEw ¥ 8
4) SHFMETEE I

AR HH B g7 I 24 Ve
T = H T X180 iy fram &, &

m%ﬁmm%’ﬁqﬁeﬂqﬁ%
() 3:4 @ 215
@3) 4:5 (4) 3_‘3

SIECEE Z/BWWm’ AR
349 =AM R, Y X 1/5
mew%yémw
mlwwmwwm?

1 ™ ©
. T
@) afm e
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052. A solid metallic cuboid oflengt@cm
and width 8 cm is formed by me]’tﬁfg a
solid metallic cube of side 6 ci he
height of the cuboid is :

(1) 2cm (2) cm
@ 3 cm 4 cm

053. Total how many 5 digit numbers are

there 2 w0
30000  (2) 89,040

(3) 89,9999 (&) 90.,00¢

A number written in Roman Numégials

LXXIX - XXXIXisequalto: =

@ (2) XXX
CIX 4) XC

054.

 055. A car runs with a speed of 65 Km/hr.
How far will it travel in 180 mﬁ'}cs
with the same speed ? )
(1) 180 km |
(2). 117km o P

@ 95 km ™
245 km _

056. Which of the following is the correct

052. €19 % 6 Y. I a0 Th 3E & H
RIeeY T ST ST T FoTeeht g
o @.M. qum =ASE Sﬁtﬂ gl
gTH & S ®
(1) 234 2) 6@(.:11.
(3) 39 (4) 43
053. 53t @ e weAd €

(1) 89,900 2) 89,000

(3) 89,9999  (4) 90,000
054, I ol 7 forelr weA

LXXIX - XXXIX ST & :

(1) XL 2) XXX

3) CIX 4) XC

055. qaazﬁrmsﬁslﬂ/aaa%frﬁ‘rﬁé’is'cﬁ
Bl 180&1«’&%3@@%%@
g Hal ?

(1) 180 .4 PE
(2) 117 [ :
(3) 195 f&.4r.

(4) 245 &AL

oL ‘g : 056. Fr= & § BTN 446 1 I ot A
representation of 446 in Roman o Breq 7
Numerals ? H
(1) CLXXVI DCXLVI (1) CLXXVI- (2) DCXLVI
Cﬁ CDXLVI  (4) CCXLVI 3) -Clj")'(wj (4) CCXLVI
. = . 5
057. Sunitareads 7 partofgboo}g;pShours. 057. Q‘ﬁﬂT et W & > -5 6
The part of the book she will read in 2
hours is > %ﬁ%naq%ﬁasmgazszmﬁﬁm
| e T 9§ o ?
4 1
B 5 2. 3 4 1
' s 0 O B @ 3
3 v 2.
. 5 7
APR-6-25_D/29562 (13) 7 [PTO]
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058. Thevalue of32+16=4-2x 3 is:

(1) 20 (), 26
@ 30 y{ﬁ

5
059. The decimal form of the sum of 3 and
g i5/ |
2,175 (@) 1275
(3) 1.875 (4)  0.875

060. 50 chairs and 30 blackboards were
purchased for a school. Ifeach chair costs

%1065 and each blackboard costs 1645,
. then the total amount of the bill is :

(1), % 1,20,600
) % 1,02,500
(3) 92,600

3 1,02,600

061. The value of <9 in

~3rO-=22 s
3 W
oA ®
] 2
G 3

062. - One angle of atriangle is half of a right
angle and another angle is 15° more

1 "
than Em’ of a right angle. Name the

triangle based on its sides and angles :
(1) Isosceles obtuse angled triangle
(2) /° Scalene acute angled triangle
Scalene right angled triangle
’ Isosceles right angled triangle
APR-6-25_D/29562

058. 32+16+4-2x3F qm } .

(1) 20 (2) 26
3 30 - “4) 6

059. % Sl % % A A v
(1) 2.175 @) 1275
(3) 1.875 4)  0.875

060. T feme & fw 50 HRET T 30
¢eREBE TR T AR 5P FEl 7 T
%1065%wm%mﬁém@
q;ﬁlﬁats% a‘r%laa%‘r@—owrfﬁr%

O,-_gl) 3 1,20,600
2) ¥ 1,02,500
3) 92,600

(4) ¥ 1,02,600

061 535———+(”)-————2 qURMATE

3 1

W 2 @
1 2

3 3 W 3

062 B w1 @ @, R @
S ¥ o B, w3
rnas%zrﬁlsoeﬁazs%l TR e

o F AR gt 1 e 3
<) qu?mgﬂfﬁﬂa‘cﬁwﬁgvf
2) g R R
(3) 1Iveg g P
4) H#%a@mwagq

(14)
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My mother says that in her childhood the
price of petrol was ¥ 15 per litre. It is ¥
72 per litre today. By what percentage the

price of petrol has gone up ?
M 250%

(2) 400%
380%
@) 360%
An item was sold at ¥ 5840 at a loss of
20%. The cost price of the item was:

@ z 7300

(2) _Z 4672
" T 4582

(4) 7500
Name the type of an angle whose the
measure is the difference of complete
angle and the angle which is 5 times of
half of a right angle :
(1) * Reflex angle
(2)  Acuteangle
@ Obluse angle

Straight angle
Arod of length 15 metre 8 cmis divided

into 4 equal parts. The length of each
pz;rt 1erod is :
, 3.65m
@ 3.7m
(3) 3.95m
(4) 3.88m
067. 0009+909+09009 009 ?
M 9009
9.9089
(3)" 9.8909

@1 9.9099

APR—6-25;_D/29562

063.

064.

065.

- 066.

063.

064.

065.

066.

7 AT St B Be & % S que o
Yot T e T 15 il <fleX an o a8
T 7290 e ¥ 9 & g § e
i @ gfe g8 § ?

(1) 250%

2)  400%

(3)  380%

(4) ﬁfO%
Zﬁa‘ar@ezo%aﬁr%w-‘rfsmﬁ
%Eﬁﬂ??ﬁa@aarmxﬁm

(1) &7300

(2) 4672

(3) T 4582

4) T 7500

3T BT F FHR Gl Foreen 7 /et
mﬁ%@w%m&%www

Gﬁ'{w%a'{lﬁﬂ'%
(1) 3 @
@ S A
(3) oA oy

(4) T B
15 4. SMM%Q%WW'{W
ﬁam@%l%%uﬁzﬁw#m

(1) fﬁsfﬁ

- (2) 3777

067.

(15)

(3) 305,
4) 3.88 1.

0009+909+09009 009 2
() 9.9009

2) @89.
(3) %909

4) 990599
g

c'?? - [P.T.O.].
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068..

069.

070.

071.

APR-6-25_D/29562
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A train covered a certain distance with
a Spééd of 120 km/hr in 40 minutes. If
the speed of the train is increased to 150
km/hr, then how much less time it will

take to cover the same distance ?
8 minutes
5 minutes

2)
A3)

¥ 16 minutes

10 minutes

A liquid is heated to a temperature of
50°F (Fahrenheit) and the temperature
of another liquid was raised to 25°C
(Celcius). The difference in

temperature of the two liquids in degree

celcius is : WP

(1) 8°cC 57/1/ 2°€
@ 15°C ) 10°C

The supplementary angl'e of the
complementary angle of two times of
one-fifth of a right angle is :
(1)/ 132° (2) 144°

126° 4) 124°
Anita invested a certain sum for 4 years
at the rate of 5% p.a. and received ¥ 850
as simple interest. Sunita also invested
certain sum for 6 years at the rate of
4% p.a. and received ¥ 840 as simple

interest. The difference of the sums
they/Anvested is :

( 520 -
T 1690
% 1250

3 750

068. -

069.

Rt WS A B 0 120 B g

Wiy @ 40 Bree # @ @ ARk Swa
Ty ForeY 150 ReT. /8e & § 91 @t

o @ T B B A S R
aa @ ?
(1) 8fFe
(2) S5Me
(3) 10 fFe
(4) 16fe
FE za 50° F (BReEe) TI9H 6 T -

070.

071.

(16)
www.sakshieducation.com

Rear T fhdl ST SglsPT TTHI
25°C (Rfeerad) T Frr Ty QN sl

F A & iy el ﬁf@iﬁ g
‘ e

(1) B°C (2) sz’c

3) 15°C (4)  10°C

T B UEd AN B & T B D
wqﬂwaﬁrﬂwzﬁw%m

(1) 132° ) 2'440
3)  126° (4) o
I ¥ B A 5% G = F 4

T % fu fEg # o9k 3 T 850

TERYT =7 foremy Y @
TR 4% AT Hﬁ;ﬁm@ P %—i
s 1, PRI 3/ 3 840qgmeT =T
e o7 ara Frag W Hl
SR ST T -
(1) 520 o)
2) T 1690 ®
3) ¥ 1250
4) <X 750 o

LO

=
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072. Sum of all the prime numbers between
1 and 60 having 3 as the unit digit is:

(2) 168

@ 13 /(A’AZS‘

Read the given statements and choose
the correct option :

073.

Statement-I : A line has two end points.

Statement-1I : Two lines either intersect

or are pdrallel.
( Both the statements are false

(2)  Only statement-I is true
Only statement-II is true

(4) Both the statements are true

| ol
074. Sunita bought 32 m of cloth. She used

: 2
— m cloth for Kurta and — m cloth for

6 3
Pyjamas of her doll. The cloth left with
heris:

- /3

= 9=
(I). 23 m 7 m

2— 4 2—m
) il

In an examination, in a group of 5 boys
and 7 girls, the average marks of the boys
is 12 and the average marks of the girls is
18. The average marks of the group is :

(1) A0 (2) 145

15 ' 15.5

APR-6-25 D/29562

07s.

(17)

13X 603 Tem oM del SO ST

072.
e S AN F e SR g A
36 3% ?

(1) 78 (2) 168
(3) 135 4) 129
073. RU gT ol & 76 U & O

s W%ﬁﬁWﬁg@%%l
LO) 11 : &f%@mqﬁﬁ@awﬁ%m_

ﬁ_W@?ﬁ%
%(1) M & Y T &
 (2) DI FH-1TA o

(3) @ad FHUA-11TA §

(4) o B T A B
© 3 5
074‘1_713:?1?11% 37 . HUST G I o

. s o g F g @ R el
c*'Jz

Pl HULT ITD TTH & [T JANT
m:aﬁ%wmw:
2 3
@(l) 27 . @ 27 |t
@ 2la 2L 4
< ) Ay 4) 2%

0780 PRl e # 5wt ol 7 el

agﬁaﬁ%aﬁmeﬂﬂals%aaﬁs%
Gﬁ'ﬂﬁ\%ﬁ%

|
5 g) 10 @) :::

15+ 4 -2
GO 15 4) L
- [PTO.]
(o)
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S N &

' ‘-'I‘r'f;tructidn:;::fﬁ‘dch question has four options.
There is only one correct option:in each | & a7 T e T& & TE /A9 GCI'QFR'T
question. Choose the correct/most approprigte feeed &1 g o OMR I-T5 W Heifer
option and darken the corresponding difdle | e H A /HA BRI
with blue/black on the OMR Answer Sheet™, - o P
SECTION-“C” : INTELLIGENCEX. AL L
076. Find the missing letter (?) inxthe | 076. @ & & omEx e # ga ST (?)
following letter series : = B ST P -
E,J,O, ?7.Y E 3L SV
‘ (), V ()~ N
S v 2 &
T St _
£ (33 ST
S ) -UI , o @ U | yi2
077. Choose the odd one out amongtthe | (77. Frfafeg & @ a9 & Y
 following : w : P ¢ :
(1) Beetroot: @ - Tomatey (1) Eﬁﬂ‘{ (2) TR
(3) ' Carrot ((A()/ Ginger= (3) PR (4) S
078. Find the odd one out among the | 078, R gd ® 9 oEId @ Ush
following : | Y
146 (2) 36 (1) 146 (2) 36
3 3) 64 (4) 100 ¢y (3) 64 4) 100
079. * Study the sequence of patterns il22 | 079. i Ru o yfRyed & #7 1 23R 3 &
and 3 carefully. On the basis of ﬁgée FHYES AT g \ﬁ'{’ g yioear
patterns, find the number of sta@_in % MR [ afosy 9 ¥ Rt & der
pattern 9. g EIGECAIT I
==
% fr ok o dofe v o
Pattern 1 | Pattern 1 |
2 N i‘gii © ¥ ¥ ¥ %
T - ¥ ¥ W
attern 2 - e Pattern 2
s e Fe o
“attern 3 : Pattern 3
| e ) attern .
(1) (2) 32 (1) 48 2) 32
24 &) 36 3) 34 @) 36
APR-6-25_D/29562 (18) '
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o
080. There is certain relationship E!ween
the two terms given on the leftgide of
(::). Choose the correct alternative for
the missing term having the_similar
relationship with the third term.
ABCD : KLMN :: GHIJ : 2
(1) OPQR O
(2) RSTU O
(3) PQRS e
QRST g
081. Thereis a certain relationshipbetween 03]
two numbers given on the left side of
(:). Choose the correct number from
the given alternatives for the missing
number using the same rclati%hip.
24 :11:: 64 : 2 Lo
—
(1) 33 <t
) 21 N
@ -
4) 32
082. If 4+2=06 082
40 +20=060" O
400+ @=600 L
: : <I
4 + 2000 = 6000 gn, the
sum of ++”2 is___ A—
vy 2222
(2) 4202
(3). 4002
@ 2202
APR-6-25_D/29562 (19)

www.sakshieducation.com

080. (:) & =iF 9T ® Ru 0. wF 3 S

@

o MiEa Ty 31 RT T Rt § §

36 faed 1 =9 i o 7 R W
SECHIIGEIE IS IR

ABCD : KLMN :: GHUJ : __‘7__
(1) OPQR |

(2) RSTU

3) PQRS

(4) QRST |

() 3 adf qur # & 7 F dewmen b
A o Pled ey &1 Ru e et
¥ ¥ 99 e & T PN S oae
9 T Zf R

24 2 11 2 G ?

(1) 33
2) 21
By 31
4) 32
. 4+2=6
40 +20 = 60
400 + () =600
+ (@ + 2000 = 6000 at
Q+@2mamt__ |
1) 2222
@) 4202
() 4002
2202

[PTO]
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083. Coimplete the following analogy : -

_ ' BAT:23 =DOG:___ 7

(1) /.
52/;35

(3) 28

@) 26

084. Find the missing number (?) of the given

series :

5, 10, 20, 35, 7, 80
(1) | 60 |

(2) 50

(3) 45

P

085. From the given alternatives, choose the

figure which will replace the question

mark (?) to continue the series :
Tt | 2]

=
)|
@ [=

APR-6-25_D/29562

(20)

083. et geeremar @ ot i -

.. . BAT: 23 i DOG : ? y

(15 27

(2) 25
(@) 28
Lo
) 26

S i ¢

5 10520,35, 7 W80
(1) 60

(2) 50

«©

L(3) 45

W ss

49)

085. "RQ T faehedl & & oW Repew a1 =
Wﬁfmﬁmmﬁ@m
(?) @ e Y
o ?

Glt] 27
L

™)

@ |7

(3)

E@) —

T‘=2

. Nae)
www.sakshieducatieaA.com
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© |
086. A se,'jﬂ)f figures carrying certain

087.

1) B, @
\/((@ B, 6,

@ (D), ,
088. Arrange the letters R,I,P,L,A using

(B}

numbff_:E is given below. The numbers in
each é_gure follow a similar pattern.

Find the missing number (as indicated
by ‘?’):

F Y
; ,/(2{ 5

3) “i2 4) 10
Arrange the following words in logical
seque&q’e from big to small :

(A) uGat

g

«<JHoney-bee

o,

(C) giBlephant

,(,B)/ “Whale

(E) Lion

Choogg,the correct option from the
follovidg :

(E),
(E),
(E),
B),

(D),
(A),
(©),
(B),

(©)
(B)
(D)
(A)

(A),
©)

3)_, B)

each' of them only once to form a
meaningful word and then identify.the
category given in options given below

to whigh the word belongs :
( Vegetable @ Month
- (3)  Flower
 APR-625 D/29562

(4) ‘ Fruit

086.

087.

088.

- 0@9

e (Se) f fRar = B v el
¥ gegd uehaue AReT @ STERT
ERGIR |
g e (& Rfe) 1 T e

O
(1) 8 2 5
(3) 12 4) 10

Prfifad o= & aifes &7 @ 92 |
BIC & F7 H ZERT T ¢

(A)  Tereel

(B)  AgFREl

(C) et

(D) =«

(E) X .

i 4 4 a2 ey =1 = v
(1) @), &), (E), D), (C
2 O, ©), E), (A), ®B)
3 ®), A B, ©), D
4 @), ©), ®), ®B) (@A)

@ Sl w= H P w3 R

Wl RIPLA Y yd% orR @ 3aq

(21)

PR RY 7 Rl & & 9w o

(BT0) B ve=T AR PR 78 9=

(1) gst - (2)  "EA

3) gm 4w
.[PTO]
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089. Choose'the,céifrebtj ri_fli‘fjijor image of the
figure (X), when the mirror is placed
on a line AB as shown below.: .

AT
C 1
O
X
®) - B
X,)
o | &Y
(2) xE.i-
@ | Fx
i - ’)
o | &

090. Choose the odd one out among the
following : . .
@ BDGJ . (2 RTVX
(3 MOQS (4 GIKM

091. Ifday before yesterday was Wednesday,
then day . _after___ __-tomorro_w will
be A

* Sunday

Thursday
(3) Saturday
(4) Monday

090.

091.

089 W(X)%ﬁ@—@ﬁwwm(
B, o T B A et 7 T
AB W wifq far s \

A |
O 4
il 7
X 4
(X) B
X"')
(1) 0 Eg
%
]
|
@ | kO |2
3) I | w
L
s
~ <t
(4) Pl oy
Frfafed § @ ordT™ @ veem
(1) BDGJ (%% RTVX
() MOQS () GIKM
A T (Ree) & wh ¥ Ted gean
o, q F (S ) ¢ w Ry A
-1 R e A
(1) Er
2) TewiEr
3) gFER
(4) «dHER

APR-6-25_D/29562 (22)
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092. Find the missing ﬂumBer (9) in the 092-’:~ Frrafafag & Q@ e (?) s i
following : e B
By o 6
i 2.
Lo
= I SU
CONN TR —
1 111 m 3
B St
é(};/, 0 @) "Tilo
120 (3. 120
121 4) 121 .

093. Some of the letters are missing (blanks | 093, 2 & = qof Aot & o aof ga (‘.
indicated by ¢ ) in the letter series & qaf?zfa) 1 qof -2of Eﬁr:g HH B
given below. Choose the correct order Rt faa @&F 7 99 8 A ™
of letters {rom the options given below m 4 @ 9ui % get hH hl A
to fill in the blanks to complete the ESiEiy A -
letter series. - GYaba__ba_ab
. - 1) baba

aba
2 . ull 2) abba
ibab (3) bbab
@) aabb 4) aabb

094.” Find the odd one out among the | (094. %ﬂﬁfff@!ﬁ 7 @ ergud Bl g

following : . ‘ N
g
B I {74 o 1o
m |, . :(3:) ® &
A O ol A O
2) o 4 @ 2o A
T
% I * 0
) o« & |
L)
0 6 = |0 o
> )
BB = | B .
APR-6-25_D/29562 (23) f_? [PTO]
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095. Which of th%llowing number will | 095.
replace the %= ction mark(?) in the
given figuresnatrix, If the same rule
among the nygibers is followed either
row-wise or column-wise?
3 &) 7
o
5 e | 35
<P
27 §9- 63
&
(1) 48 «° 20
(3) 32 @) 40
096. Iff Ball’ is calged ‘Cap’ ‘Cap’iscalled | 096.
‘Pencll’ ‘Pcng? is called ‘Eraser’ and
‘Eraser’is callEﬂ]‘Bag then what would
Atjun wear m@u;my and hot day?
(1) Eraser
(2) Ball
(3) Pencil
097.. Find the missing terms (2, ?) in the | 097,
following series :
7, X, VR
fﬁriN .
2 MN
"(3) N,M
(4) N,P
v
APR-6-25_D/29562 (24)

Frefeiea Afyeg & Ru o fowedt & §
BT-E T IR (?) Ry
SN, a @ @ i () 3 e § &

| ﬁa@mmﬁﬁ@é’rmcﬁw

Eﬁ'{‘cﬂ'@f?
3 8 7
15 7 35
27 | 7 | e
(1 48 2) @i
(3) 32 @) 40

R R A, A F R, R
A R AR T A R q

AR g9 At R & ot Fr geer?
(1) IR/

2) &

¢)

4) am

e fE F g @ (2, 2) @
ST DT

Z,X,V,T,R, 2,2
(1) PN

2) M,N

3) N,M

4) N,P

www.sakshieducation.com
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098. Find the missing term (?) in the | 098. [F=faRad J@ar 7@ ® (7) H T
following series : BT
ADC,BHG ILK, __? ADC,EHG ILy__?
(1" MPQ () MPQ -F:
(2) NQP (2) NQP -a
@ wmro @) wmpo &N
(4) ORQ (4) ORQ
099. Arrange the following words as they | 099. q=H | eﬂﬁ- w7 7 ieRad
occur in the dictionary : I R Eﬂﬂﬁ%ﬂ.
(A) LIZARD (A)  LIZARDY S
(B) LEARN (B) LE’\RNES
(C) s LITTER (C) LITTER '
o s W o
. =% SR N
Choose the correct option from the () I“I:SSO[E:J
following : Frr 3 @ w T O
1) @), M), E), (A) (©) (UQBY & E) (AL (L)
(") ©), @), @®). (E). @B) @) (©), (&?) (D), '4B), (B)
~B), D), (E), (C) (A) (3) @B), D), (E), (©), (A
J/ B), @), (©) (EB) (A) 4) @), @D, (), (E), (A
100. Thereis a certain relationship between | 0. (::) & 94 AT FRu T gt B A
two given words on the left side of (::). aH ﬁﬁaa '{"TEF&%I Ru 1o Rt o @
Choose the correct alternative for 3 =/ —ﬂ-qqlm N AR 9=
the missing word using the same T8 T @ﬁ—iﬂ _
relationship : <z !)3‘131'@' !:C‘ng‘?ﬁ 9
Moon : Satellite :: Earth: ___? - -
) @
(1) Sun
(2) Star 2)
(5))_ Planet @) W
ﬂ(- Solar System 4) dv=d
APR-6-25_D/29562 (25) [PT.O.]
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Instructions-: Fach question has four options.
There-is only one correct option in each
question. Choose the correct/most appropriate
option and darken the corres;aond@ circle
with blue/black on the OMR Answer pliget.

SECTION-“D” : GENERAL KNOWEEDGE
101. Read the following statementson how

salt is made : CH

L Water. is allowed to @ in the

o DU s 5 Ngpame B
.  The sea water is collected in
-, % +--= -shallow beds dug in the sand.

m. After the water dries the salt
remains on the ground, .
<« . Choose the correct ordggzof the

B o II-L-,:‘__‘- L - IH '“E‘:é
iy L M T e
I | |

."102. * Why will a person not drown in the Dea
“ Sea even if she does-not know how to

swin?

vt ). Becauseithas the saltiest water. | e

(2)  Because thereis no vidter.

(3)  Because there is no a’jﬁ'

(4) Becauseitissandy. "5
103. Which part of a plant absorbgypter and

statements to explain how saltdis made: | -

Rl T IS B UK R ¥ 5d o

ﬂﬁg%ﬁﬁm"r% e /g o
G OMR FR-09% T G
M A /B B |
Rom-“D” ;. ger =
101. ¥ T % 6T  givad el
PR e
ﬁm-wszgi @
I 9 9@ & W W &g T

et YT TEEE N Sheel [T e B

L TR B g T B AR e T

T T ol B
e AW SRR B R B B g
(oI, I, I -
) 2). 1 i, 1N
(3)y ‘0, T\
4y 1 @ LS 1
102, & 7 oW i Rafy A

103. 9RY & B

nutrients from the soil? €9 Q1Y Tl H1 STAAT BT &7
(1) Flower :+ dg Leaves | (1) ™ (2)  afwer
_ (3) Stem Root (3) @ 4) %
104. is a type of drum which is used | 104. T Y &1 ord & raal ST
.t .+ asIpdian musical instrument. - - . ARGE G @ B wq F fer S 8
Harmonium (2 =+, Tanpura (1) U RRL (2) aEg
(3)  Sitar abla (3) REr (4) F€r
105. was the famous Indian.Boet who | 105. - gioTRr = TEAT B A AR
wrote 'The Gitanjali'. N TRAT B A1
Rabindranath Tagore == (1) Ve &M
(2) "~ Bankim Chandra Chaffgpadhyay (2) e == FgEr
Subramania Bharati - (3) @
(4)  Sarojini Naidu (4) AR T
_APR-6-25_D/29562 (26)
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'Madhllgani‘, a very old form of folk art
is from,yhich state in India?

| @ ﬁlhar

(2) est Bengal

106.

( whattisgarh
(4) Jammu and Kashmir

3
107. Wha 'drought'?

106.

- 107.

ﬁhen the sudden shakmg of |

—ground causes a series of waves

%the sea.

(2) When there is land sliding.

occurred on the hills.

@ When there is no rain and crops |

‘ﬁ’ﬂ‘ay fail.

(4) %en heavy rains cause water to

| verflow.

108.
Emirates (UAE)?

(1) AlAin
(2) Dubai
Abu Dhabi
j{ Sharjah
109. The “Valley of Flowers” is Iocated in
which state of India?

(1) " Arunachal Pradesh
¥2)  Ladakh |

@ uttarakhand
(4)  Himachal Pradesh

APR-6-25_D/29562

What __nzhe capital city of Ur_1ited Arab

108.

109.

27)

@m%@%ﬁm’ﬁm ey
mrw-erw%ﬁmw%%?

(1) Fex

@ o E

(4) g o R
W’%@r%ﬁ%’r’

(1) o o & o R &

ﬁﬁaﬁﬁﬂaﬁ%l

3) tﬂa Errﬁar & —a—cﬂ o
@ aawr&arﬁsr%wwaa
e Elgﬁaﬁﬁfﬁ%arcﬁ%l
Hgaﬂmm(qqé)aﬁwm:ﬁ
aﬁﬁuwam%? -

(0 eﬁfﬁﬂ

2 33'?

3) aﬂgerﬁ?r

'({l) arr&na Ly |
o B & e T A

R

(1) %Wn%ar_

@) e

& W

| [PT.O]
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| 110!

110. Who was the first man to step on the
Moo . '
. /?J/(’ John Young
'A2) David Scott
Neil Armstrong
‘ (4)  Peter Conrad |
"111. Adding which of the following to water | 111.
e oy will make eggs float in the’water?
- Salt : ) - Sugar
~ (3) Chalkpowder(4) Oil -
112." Inwhich year did the Dandi March take | 112."
place, when Gandhiji with several other e
people went on a long walk from
Ahmedabad to the Dandi seashore in
Gujarat, to protest against the British
Law? |
1930 (2) ~1919
(3) 1920 1929
13. -What is the full form of SAARC? 113"
(1)  South Asian Association for
. Regional Cooperation
: @ - South American Association for
: Regional Cooperation
South American Alliance for
| Rational Cooperation
(4) South Asian Alliance for
Regional Companies
114. Read the statements given below and | 114.
choose the correct option :
Statement-I : Our stomach churns the
food to digest it.
Statement-II : The food does not
digest'properly when we are sad.
Both statements are false.
2)  Only statement I is true.
(3)  Only statement I1 is true.
Both statements are true.
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115. Whoareknown as 'Kalbeliyas'? 115. ‘FAaRR’ #9 Fead 8

_ People who make snakesdance. (1) ¥ QT o | % TE B
(2)  People who sell old bbfiles and @) A9, g e X sTEaR
newspapers. ,;R.' | Jaq B .
(3) _ People who do farmmig (3) ¥ @, S S B ¥
People who catch fish fﬁé’m river. (4) Aq ST HeiEl TS &l
116. The famous Indian King who built the | 116. [58 &= R qEE 4 qered H
Taj Mahal was ........ ; Frafor samr ar? -
Shahjahan . (2)  Humayun (1) qESTel 2 g
(3) Babur (4) Akbar (3) X (4) N
117. Which instrument is used te~ieasure | 117. TIEHA e & g ﬁl‘ﬂﬁlﬁ:‘ﬁ ¥ 9
temperature? i“'ﬁ g5 @ AT Rpar S 27
(1) Telescope @( Bargﬁeter (1) fwny (2) TR
¢ - ‘o ,
. (3) Microscope @ Thq@‘*ﬁometer | - gl (@)  FEE
118. is the largest planet in our | 118. k¢ @THETVT B Fﬁl@ IR T8
Solar system. E , i | Bl |
(1) Uranus - @) iﬁ:i)iter ORI l (2)  gEE
GV)/‘ Saturn “4) ﬁl'th S E) R 1 A CO N 1
119. Which part of the human bo%?;gelps us | 119. AT SRR & Feer ofT @ =X 9w O #
to breathe? | [SEEG ﬁ?l‘c'l’f_ 27
“ () Liver () Buin (1) @ @ e
@ Lwes 47 Heat 3) % 4) . T
120. Who was the first Pre51dent gf‘ ndia? | 120. “TR?T H oy TSR zﬁ:{ q7 )}
I :
@ Ra]endraPrasad m,sk | (1) 3. oS bR )
Dr. Zakir Hussain @"} | (2) 3. SR i %t
(3) Mahatma Gandhi | (3) e T
| 4)  V.V.Giri ., @ & PR
APR-6-25_D/29562 (29) e wi® b [RTO]
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121. Golconda Fort is located in which city?

(1)  Panjim
* Hyderabad
(3) Jaisalmer
(4)
122.  Whoamong the following found out that
mosquitos sprcad malaria?
/& George Mestral
Ronald Ross
Gregor Mendel

Neil Armstrong

Jodhpur

3)
4)
123, When one bee finds flowers with

nectar, what does it do to let the other
bees know where the nectar is?

(1) By letting out a special smell
@ A special kind of dance
(3)

( Electric signals

A special warning call

124.  Karnam Malleshwari has won many
medals in international events for which
sport?

(1)  Kho-Kho

(2) abaddi
Boxing

Weight Lifting
Who was the first Indian woman to reach
at the peak of Mount Everest?

achhendri Pa)
Wahida Prism
(3)  Kalpana Chawla
(4)  Sunita Williams

125,
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